% & —— fire heltall, rekkefolge for operasjoner med
a=n (%) Ere
0, EEEEE parenteser

StudentName: ExamDate: ~ ExamScore:
2-T)yx2+3= 6—6(11-7)=

40(10+ 8)+5 = @4+-1+2)x10=

50+5-6)x 7= 40+-10—-5)x7=

2Q7+3+2)x 8= 1R+ 11)+11 =

10—-4(11—-4) = 6+56—2)=
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% & ° fire heltall, rekkefolge for operasjoner med
E=i: e
—w WO parenteser

StudentName: ExamDate: _ ExamScore:
Q-7 x2+3=(-7) 6—6(11—7) = (~18)

40(10 + 8)+ 5 = 144 (4+1+2)x 10 = 60

(50+5-6)x 7= 28 40+ 10— 5)x 7= (-7)

(27+3+2)x 8= 88 QR+ 1)+ 11 =13

10— 4(11 —4) = (-18) 6+ 5(6—2) =126

www.snowmath.com


https://www.snowmath.com

